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Geometry Chapter 1 Review

1. Name 3 collinear points on plane R. \C
C,,6 %a. '
, r
i
(|

2. Give another name for plane S. /
S

Dlone AFG (possible answer) 7
3. Name the intersection of line BC and Plane S. / De \ /

G

4. Name a ray with endpoint E.
E—g E"’ % on o ray The exdpoint
o iS5 +he shrhnj point

5.Sis between R and T. Find RT.
5x—6 2X

S + 8T = RT Y 42 ® = ®
Ev- + 2x = 2XF2 LT = 2(? R S T

Ix - = 3x t L@'_‘f.&‘ I 3x+2—

Yy-b = 2
= &
L/YX =7
6.Y is between X and Z. XY = 13.8, and XZ = 21.4. Find YZ.
o 188 xy4vzEX2
»,.__f-z\—Tr“*' -13.§ -13.§

7‘2570(0

—

7. Qis between P and R. PQ, = 3%, QR = 6x+4, and PR = 14x — 6. Find PR.

Pa +QR = P2 = 1H(2) -G
o 3X . (0X+L/ 2 4'(0)(""7’: 14X~ PK (
P & R Ox +4 = 11%~ b lPF =11 {
—_— H=5x-b
1HX- 0 10 =5%

2 =X



8. U is the Midpoint of TV, TU =3X + 4, and UV =5X - 2. Find TU, UV, and TV.

3xrd  mx-r o TUSUY Tgs ()4 3
—F——e t Ix+y= Sx-1 J =
T- U v B _ U N '3
o =X TV=13%24+ 132606
b =2x s
3=X

9. E is the midpoint of DF, DE = 9X, and DF = 20X — 4. Find DE, EF, and DF.

M, \ o A +9x =20%x -4 DE=3(2)= 1§
D E F /g>x=zox-'—/ EF 71§
e 4 oy =4 F=18+18°30
20%-Y
X =2
. X 7
10. Classify each angle as acute, right, or obtuse.
35
a. ZXYW b. LZYV c. LXYZ » 1 55° .
v c .

R]ﬁ\ﬂ'\' Dse Aw-k

11. If m£HJL=116°, find the mZHJK .

mLAJY + m KTL = mLHTL

15X +20 + px +2F = o
23k s47 =1, MLHTEE13(3) 4

722x = (9 MLHJK :5?"7 J
X=3
12. NP bisects ZMNQ, mZMNP = (6x — 12)°, and m£PNQ = (4x + 8)°. Find mZMNQ .
mimNP = mlPNG ) MNP = ()~ 12

Ox-12 = HX4E ) mag = 48O
2x-12= %

TSR

X =10

(10x + 27)°
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Tell whether the angles are only adjacent, adjacent and >
linear pair, or not adjacent.

- 5 3
13. 21 and £2 14. Z3and Z4  15. £2 and 5 &
/46[\')&(.0)/)4 Livaar Pavv  Not Adjaant
Adjaont

14. The m£A=(2x+30)° and msB = 3x-20)°.If £4 and ZB are supplementary, what is
the m4£B?

mLAB’(;mLB;: 150 mLB= 3(34) -20
7x + 2x-20 = |
5x +/0 = I80 Mﬂ
5x =170
X =24
15. What is the distance from X(-2, 4) to Y(6,1). 16. If L(-4, 2) and M(3, -2), what is LM?
d={ %)™ * (ya-vi)® d={ 7)™ + (Y-

N eM = \(344)* +(-2-2)*
d = Vo) e (14, o

d= \[—(}T—*(@) LM =79 475
d=Vo4 +9 LM =05

d=-{73
17. Given AY with endpoints A(5, 9) and Y(-11, 3) and midpoint M , what are

the coordinates for M? (X,.}X,_ 4 y\
( 5 +( ") 9 ‘i-“)

( %J*{‘) E— ('3/(9>

18. B is the midpoint ofﬁ A has coordinates (3 2) and B has coordinates (-1,4). What are the

coordinates of Y? CS 1) C}‘_,j i ‘m

K\m/
+2




19. Find the area and perimeter of triangle ABC.

AB=4

-A : = ‘.:-B
1 _aL Z4bt=c* 0 g / :
al_\,b =C. | S C e 0 2.3 5
3% 4 32 = ot ¥ ¥ 3 =c? alo ]/ .
e e
IR S '
" l=C =
‘_'02— - C 3 A '7’: b h
At=4d,2  BL:3:2 - ,,i(qxa)
Pt +4.243:2 = |14 = 5(2)
)
Perimeter: ”'L’ Unl.'l's Area: (9 Unl'+sz
20. Find the area and perimeter of triangle ABC. 5
AF+ ot sct al+pr=c* a4 bpr=C? :
3xz*=Ct 2t 4P et 35457 sC” ;
949 ¢t Y + 20 =" q +25 =c* 2

(5.6 (- 7z A

Ll-'L :C (_po% -C 5-& =C
4By BL:G3  AC-S.8
P: LI,Z +Co,3 +5. &

[
= o

-2

P"’ /[0:3 Unl“ILS ATDTAL = (0(5') = 20

Any 7 1()E)7 45
Aoy = 5"(74)((0) =

18

Agg 5 —{—(3)(5) = .3

Perimeter: /[0° 3 Uﬂl")l‘j Area:
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